T|d|difd2| d3 |da[M|N|O | L [LL]L2[ h [h2]2z]|L3
06 4 (113172 | 3xM4 |84 |7.5[18| 1 |353(9.7| 6 |102[15.8|0.2|400
08 8 | 15(/42 |90 | 3xM5 |102|8.5| 20| 1.5 [42.8(12.2| 9 | 114 (16.3|0.2|400

10 16| 15|44 [112| 3xM6 |130[ 10| 20| 2 |48.4(11.2]| 12 [ 129(27.4(0.2|400
12 32| 20|52 |132| 3xM6 |150| 10 [ 25| 2 |54.4| 11 | 12 [ 162 | 30 |0.3|400
14 60| 25| 60 [145| 3xM8 |165| 13| 30| 2 [66.3| 14 | 14 | 201 | 33 |0.3[1000
16 80| 30(70|170| 3xM8 |190(13.3| 30 [2.25|72.5(12.5| 14 | 250 |37.4|0.3 1000
Notice:
1. Unitmm

2, Trepresents rated torque(N.m)
3. L3listed in the Table represents the length of the
conductor, which could be ordered.

— HLs d
b <~ 1 06 | 11/12/14/15
AT 08 11/12/14/15/20
: 10 | 15/20
P, 12 | 20/25
1 ‘ 14 | 20/25/30
d RN 16 | 25/30/35/38
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